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1 (a) [R=0usl Rusl oeudl. 5

(b) - [FuH-AL Gualal s3I uHlsel Ghdl ¢ 5
X+y+2z=4,2x—-y+3z=93x—-y—z=2

(c) x-il Bxa s : 5

x+2 3 4
2 x+3 4 (=0
2 3 x+4

1+a 1 1
(d) AL A | 1 1+b 1 :abc(]+l+%+l) 5
11 l+c “ ¢
YAl
1 (a) [R5 viq RS 9L dsldd el 5
(b) su3-l d Gal : 5
x+2 3 _ x—1 y—] 3
y+1 5| 1 6 |
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12 32 52| |12

(c) AwlBd A : 22 52 13%|=[2?
32 72 257 |37
—a* ab  ac
(d) A sA : |ab  —b?
ac  be —c?
2 (a) AHAAL :
() o Al
(i) sy Al
(i) 2R Al
(iv) [asal s
(v)  ABLsl A4o Mol
2 3 0]
(b) [(ud andl:[1 2 3][0 4 9
9 1 0]
2 -1 1]
(c) sl 3 s A=|-1 2 -1
1 -1 2
A =642 49441 =04 AN B,
Yl
2 (a) AHAl :
(i) sr abs
(i) A als
(i) uLt 2Bs
(iv) et 2l
(v) [Qifa albs
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52 122
72 242

be | = 4a*b3c?
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1 -1 2 00 1

b A A'=[3 0 4[,B'=|1 2 3|du dad:(4B)". 5
11 3 13 4

(c) Alsl Aa u+lswl Gl : 10

2x+4y+z=5, x+y+z=6, 2x+3y+z=6

3 owdll S : 15

(x2 —5x+6)(x2 —3x+2)

) lim
x—2 x> =3x%+4
2
.. . x“—6
(i) lim ————=
x = 49 4 4x*
X_ —X

(iii) lim 2

x—e et te "

YL

3 owdll S : 15

[n% +1+L]3

(i)  lim 1
A RV
{n3+1+—3}
n
(i) lim 3 w4
n—2 5n_2 +6n_3
(iii) lim ‘/3”2_ VS
x—1 x° =1
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4 suldld sl Rgiddl Gualal s3AA Aleid 52U 5

o2 n(n+l)(2n+l)
6

YAl
4 (a) ouldld gl Gudlel s34 wadl ¢
40° + 413 +42° + ... +50°
(b) SuBicild AL Gualal 530 AL HAdl

IX3+3%X54+5%x7+7X9+..... n ue Yl

ENGLISH VERSION

1 (a) State the rules of the determinants.

(b) Solve the equations using Cramer's Rule.
X+ y+2z=42x—-y+3z=93x—-y—z=2

(¢) Find the value of x in the following :

x+2 3 4
2 x+3 4 (=0
2 3 x+4

I+a 1 1
(d) Provethat: | 1 1+b 1 =abc(1+l+l+1j
a b c

1 1 1+c¢

OR

1 (a) State the difference between Matrix and Determinant.

(b) Solve the following by Cramer's Rule :

x+2 3
y+1 5

x—1 y-1
1 6
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(c) Prove that : 22 5% 13%|=|2%? 5% 122 5

(d) Prove that : |ab —b>  bc|=4a’b*c? 5

2  (a) Define the following : 5
(1) Null matrix
(i1) Unit matrix
(ii1) Square matrix
(iv) Diagonal matrix

(v) Adjoint matrix

2 3 02
(b) Find the value of : [1 2 3] 0 4 91|5]. 5
9 1 0ff1
2 -1 1
(¢) Show that matrix A=|—-1 2 —1| satisfies the equation 10
1 -1 2
A —64*+94-41=0.
OR
2  (a) Define the following : 5

(i) Row matrix

(i1)) Symmetric matrix

(ii1) Equal matrix

(iv) Column matrix

(v) Skew Symmetric matrix
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1 -1 2 0 0 1
(b) If 47'=|3 0 4[,B'=|1 2 3| then find (4B)". 5
1 1 3 1 3 4
(c) Solve the equations by matrix method : 10
2x+4y+z=5, x+y+z=6, 2x+3y+z=6
3 Solve the following : 15
(x2—5x+6)(x2—3x+2)
(i) lim 3 5
x—2 x  —=3x"+4
2
. x"—6
(i) lim ————
¥ g4 4yt
X X
(i) lim ———
x> et 4o
OR
3  Solve the following : 15
3
JA 1
n 3 +1+T/
3
(i) lim L
n— oo { ; 1 }%
n +1+—3
n
-2 -3
Gi) fim 22t
n—25n “+6n
iy fim 33 i V5-x
x—1 x° =1
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4  Using the principle of mathematical induction prove that :

n(n+1)(2n+1)
6

12+22 432442+ .40 =

OR
4 (a) Using mathematical induction solve :
40° +41% +42° + ...+ 50°

(b) Using mathematical inducation, find the sum :

IX34+3X5+5XT7T+7X9+..... upto n terms.
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